Warm UP.

4) Divide and write your answer in standard form. 4)

7.2 X102
3.6X1075
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5) Kim made soup which contains 75 total ounces of beans. The soup
contains only black and red beans. There are 4 times as many ounces  5)
of black beans as red beans.How many ounces of black beans are in

the soup?

[ole]elclelelelele]l




Warm UP.

4) Divide and write your answer in standard form. 4) >
7.z><10:2 ) 8
3.6X1075 2 Z_X lD 0
2, 02 To0,
3.6 \p7> s

-2-6%) 0
LX)

5) Kim made soup which contains 75 total ounces of beans. The soup

[ele]elclclelelele)l

contains only black and red beans. There are 4 times as many ounces  5) |4

of black beans as red beans.How many ounces uiw are in

the soup? ‘D-—\—- - 7 5
b= 47

[ole]elclelelelele]l




EOG Review

31  The table shows the air temperatures at different elevations.

Elevation (feet) | Temperature (°F)

0 757
100 70°
200 67°
300 64°
400 Bo¢
500 55%
600 50°

Which line best fits this set of data?

A y=‘§§x+75

B y:algx—?«'S

' y:21—5x+75

D y= 5x-7%
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32 Mary collected data each day on how many commercials she saw and how long
she watched TV. She displayed her data in a scatterplot.
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According to the trend line shown in the scatterplot, about how many
’__ commercials will Mary see if she watches TV for 1% hours?
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32 Mary collected data each day on how many commercials she saw and how long
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Total Number of Commercials

N
o

—
=]

.
(o)

—
=Y

—
[

—
o

]

(o)}
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Alicia and Melissa did jumping jacks, The table below shows the number of
jumping jacks that Alicia had done in different amounts of time.

Time (minutes) 1|23 4| 5|6 ]| 7|8
Jumping Jacks {30]60)90{120|150]|180{210]240

Alicia

The graph below shows the number of jumping jacks Melissa had done in different
amounts of time.

Melissa
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0.1
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0123456 78
‘Time (minutes)

Which choice best describes the difference between the rates at which the girls
did jumping jacks? -

A Melissa did 6 more jumping jacks per minute than Alicia.

B Alicia did 6 more jumping jacks per minute than Melissa,

C Melissa did 5 more jumping jacks per minute than Alicia.
D

Alicia did 5 more jumping jacks per minute than Melissa.
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Alicia and Melissa did jumping jacks, The table below shows the number of
jumping jacks that Alicia had done in different amounts of time.

Time (minutes) 1|23 4| 5|6 ]| 7|8
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The graph below shows the number of jumping jacks Melissa had done in different
amounts of time.
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Which choice best descrlbes the élfference between the ratesyat whic girls

did jumping Jacks?
Melissa did 6 more jumping jacks per minute than Alicia.
Alicia did 6 more jumping jacks per minute than Melissa,
C Melissa did 5 more jumping jacks per minute than Alicia.

@

Alicia did 5 more jumping jacks per minute than Melissa.



Ratios
Ratios show the relationship between two quantities.
Rates are ratios that compares quantities measured
In different units.

Unit rates are rates with a denominator of 1 unit.






4 types of Slope

Positive
Negative
Zero

Undefined
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**Another way to remember undefined
vs. zero slope.**

Undefined- makes "U" Zero- makes "Z"
h‘ € z »
m=0
m=1 1
0

*Zero underneath, it's UNDEFINED!!
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Negative Slope
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Zero Slope
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Undefined Slope
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Practice

Find the slope of the line through each pair of points,
D) (-19,-17),(-2,-7)

3) (-19,19), (-6, -13)

5) (17, -15), (-5, -11)

7 (-2, -6), (18, -13)

9) (-5,6),(5,7)

11) (-8,-18), (11, 11)



1) (-19,-17), (<2, -7
LI TR ‘J;' B
W %;‘ l()'\‘l _ l‘{ (-1 I) _FV'LI ’()
T To-(=1q) -2
3) (-19,19), (—6 -13)
X H' z U? _
= %2 —lfbrl“f, 1 I 42 J
i;fléﬂ' G- e 11| i"’
5) (-17,-15), (=5, -11)
S Xg '(‘jZ-
5 Ui _||,(—\5) v L L, ,:
é_‘;(__:%&\lr FV‘- '0 '“‘f“ll ‘& ,
7) (-2 —‘;S) (18 —13)

2 ase W
m= L,_Lg, = s w\ -2 V{{f(

X2 X\ - \Z -2) su
9 -5,6),15,7
) { )(m),_

A _)l i L . '"T_

X?. -'X ;‘“(’i'-}
i1) (;(s,-:s), (11, 13)
v W 7 Yo




Homework:

Day 1 Function review worksheet

Practice:
tinyurl.com/SCMSSIlopePractice



